LeC

AUTO ACCESSORIES co

DACIA DOKKER (2012-)
SOLID ROOIF BARS

MONTAJ TALIMATI FITTING INSTRUCTIONS MONTAGEANLEITUNG  RIDELLES DE TOIT

&

*Port bagaj tasima kapasitesi 75 kg. olup; *Roof Rack carrying capacity is maximum 75 kg.
yukleme yapmadan énce aracin tavan tasima Please check your vehicle roof maximum carrying
kapasitesinin dikkate alinmasi gerekir. capacity from your car manufacturer

before load roof rack.

*Maximale Traglast unsere Dachrelinge betragen 75kg. *|a capacité de chargement maximale est de 75 Kg.
Die freigegebenen Dachlasten der Nous vous prions de vérifier la capacité de

Eig:éiﬂ%?fg:tel%ggrfBe.?tg'Ch: Kenntnisnahme chargement du toit de votre véhicule avant
u : w - Bitte zu : ’ de charger les barres de toit.

30 Min. @ M2022933



PARCA LISTESI
Part List /Teileliste / Lista de accesorios

.-,

L

On Ayak
Front Foot / Front Fuss

On Ayak Kapak
Front Foot Cover / Front Fusskappen

Arka Ayak
Rear Foot / Hintere Fuss

Arka Ayak Kapak
Rear Foot Cover / Hintere Fusskappen

g

R

On Ayak
Front Foot / Front Fuss

On Ayak Kapak
Front Foot Cover / Front Fusskappen

Arka Ayak
Rear Foot / Hintere Fuss

Arka Ayak Kapak
Rear Foot Cover / Hintere Fusskappen

—

—

-

(@

L
Profil Profil M8 Pul
1x Profile / Profil 1x Profile / Profi 4x M8 Nut / M8 Unterlegscheibe 2x m8 x 35
2x m8 x 20 2x 2x m8 2x
(R) (s ™) V) —
A\ ——
2 Baglanti Elemani 6 Sizdirmazlik Elemani 1 6 2 Orta Braket Eva
X | Connection Equipment / * | impermeable Rubber /Dichtelement | ' * m x Middle Bracket Eva
Montaj igin Gerekli Aletler
Required Tools
Notwendige Werkzeuge
Max. 80kmm  130km/h
50Mph  80Mph
& = o B '—.~‘
- 25Mph,
D) 3
165 Ibs o 10mm




1) 1-2 ve 3 Numarali tapalari arag lizerinden
cikartiniz.

1) Remove the stoppers no 1, no 2 and no 3
from the vehicle.

1) Entfernen Sie die Stopper Nr. 1, Nr. 2 und
Nr. 3 aus dem Fahrzeug.

[ D)

D
BN

2) Sizdirmazlik elemanlarini tapalari gikardiginiz yer
-lere takiniz. Arka port bagaj ayaginin altina gelecek
sekilde baglanti elemanini sabitleyip sikiniz.

2) You remove the sealing parts from the plugs after
attaching them to the same places. Secure and
tighten the connection equipment so that it is

under the rear leg of the roof rail.

2) Setzen Sie die Dichtungsteile an die Position wo Sie
die Stopfen entfernen haben. Fixieren Sie die
Befestigungselement sodass diese auf die hintere
Anschluss des Dachreling Fuss raufkommt.

®




—\

3) Port bagaji sizdirmazlik elemanlarinin lizerine gelecek sekilde yerlestiriniz.
3) Place the roof rail over the seals.
3) Platzieren Sie das Dachreling auf die Dichtungselmente.

|W Orta-Middle [y 0nmll B2 Arka-Rear [y onm|| BEE On-Front o0 Nm
mex20 | 855 in-bf 85.5 in-Iof 85.5 in-1bf
2| 73t 7.3 ftlbf N\ | zenr

4) Port Bagaji arac iizerine montaj yerlerinden sabitleyip 1,2,3 nolu civatalar sira
ile esit sekilde maximum 10 Nm olarak arac lizerinde merkezleyerek sikiniz.

4) Fix the roof rail at the mounting points on top of the vehicle then start turning the screw bolts
in the following order ( Bolt #1, Bolt #2 , Bolt #3) and turn the bolts by putting equal force,
maximum 10 Nm.

4) Positionieren Sie die Dachreling an den Befestigungspunkten oben auf dem Fahrzeugdach und
beginnen Sie dann, die Schraubenbolzen in der folgenden Reihenfolge zu drehen ( Schraube #1,
Schraube #2, Schraube #3) und drehen Sie die Schrauben mit gleicher Kraft, die maximale Kraft sollte
10. betragen Nm.

ORTA AYAK / MIDDLE FEET/ MITTLERE FURE ABDECKUNG ON - ARKA AYAK / FRONT - REAR FEET /VORNE UND HINTERE FURE ABDECKUNG

J

5) Port Bagajin kapaklarini kapatip montaj islemini tamamlayiniz.
5) Place the covers on the roof rail feet to complete the assembly.
5) Positionieren Sie die Abdeckungen wieder auf die Dachreling Fiifse um die
Montage abzuschliefsen.

@




